[ Efficiency vs vertpos |

~ 0.2

L o

o F : : :

O e

&) I : : :
D04 b AT
o F : : :
R .
O MRt e : O R
0.08F -+ P T ;
O R Feeess

0.04
0.02

104

Ratio
=

0.9

IIIIIIIIIlIIII_I_I_!.'_I_IIIII
: [ ——
A

s
: s
+
e
o
+

e Y

4|
4

0.8
107

Efficiend

2 10 1 10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew6_step?2_tthar-phasel-newgeom

~ 0.5

L R S L
) . . . . .

2 04F et
> : : : : :

2 : : : : :

TR S S S S Y
O RS LIS S AR SIS
S S T A RN [
RS AR SRR SO T I
T [ S
s [ Tte S W e S
008 ++rwfevse e oo

effic

o E
(@]
| AR LR

PENETETE EFET TR BE Y ulfull . LN B EFEPEFEE EPEEE
------- PR AN
............. UM ML L

230 =20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.1

> F
0_009:—.--...'“' -------------
e o
(7)0085— -----------------------------------------------
L0.07[ - -wvbereeedeee bbb
5 E
C0.06F------rrmrerane e b
Q o
&) F
LV 0L=] S e o SR
(] E
AR S0 [ 1 SIS SUE
XS S T % B
0.02F -+ ﬁ* + i
001—+##+ AL 3 10 S P
| 7O LT B Lo
Re) 3 .
§= Y S U3 U U 2 1 A L
et A 4]
X SN U 818 o f AU 0 0 O S
555 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


